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587|EHEIHKEE b A 7.500 FG 1.000]  1.000 1.0 1 E= ]
588| BP9 EE /< £l | A 0.245 SG ®0.70 0.38|5v4 IES ] NN X 1 A)JIl
589| T FHEES £l | A 0.510 FG 1.25] 1.25 1.56 1 AJIl
590| P93 £l | A 0.770 FG ¢ 1.00 0.79 1 AJil
591 |BEE £330 | & 0.900 FG 1 =
592| & FH 20l | A 0.950 RG 2.00 2.00 4.00(5v4 2 [Tooy 45PS X1 1 HII
593|HFHEE2 £l | A 1.135 SG 2.00 2.50 5.00{5v4 5 [T oy 45PS X1 2 AJil
SUIETF1EREE £33 | A 1.330 FG 1.10 1.12 1.23 1 AJil
S| EFF2EHRE £l | A& 1.425 SG 1.00 1.30 1.30|5v% 2 |FH AL X 1 HII
596 )1| £l | A& 1.635 SG  1.00 0.79(5v4 2 |FF AL X 1 HII
597] B30 20l | A 2.635 RG 2.00 2.00 4.00|5v4 3 _|EF 0.43KW X1 1 I
598| F & )1| £33 | A 2.935 RG 3.60 3.10 11.16|5v% 5 |EE 0.4KW x2 | 2 I
599(HTE 1 £l | A 3.170 FG ©0.60 0.28 1 Al
600]JII AR £33 | A 3.595 SG 1.50] 1.50 2.25|5v4 3 [FF NV X 1 I
601 [ K H £l | A 3.795 FG 0.60 0.28 1 Al
602| T&EZE £l | A 3.918 FG ® 0.60 0.28 1 B
603| #4515 £l | & 0.715 FG ©0.80 0.50 1 B
604|FAH £l | £ 0.810 FG 1.00] 1.00 1.00 1 Al
605| A iR 2 £33l | £ 1.425 FG  0.60 0.28 1 Al
606| A & £33 | £ 1.720 FG 1.50 .50 2.25 1 Al
607|EHES £33 | £ 2.410 SG 1.00 50 1.50|5v% 3 _|EH 0.6KW X1 1 I
608| R £330 | = 3.495 SG ® 0.60 0.28|5v4 1 |Fg NV X 1 Al




